
International Economics II

STUDY QUESTIONS FOR MIDTERM
Prof.Dr. Nihal Tuncer
A. The following figures show balance of payments records for Turkey for January 2018. All of the figures are in billions of US$.

	Exports of goods
	13,140

	Imports of goods
	20,774

	Services  (credit)
	2,765

	Services  (debit)
	1,846

	Factor Income Receipts (credit)
	484

	Factor Income Payments (debit)
	963

	Transfers (credit)
	98

	Direct Investment
	

	Net acquisition of financial assets
	318

	Net incurrence of liabilities
	606

	Balance on Direct Investment    
	-288

	Portfolio investment
	

	Net acquisition of financial assets
	334

	Net incurrence of liabilities
	5,251

	Balance on Portfolio Investment
	-4,917

	Other Investment:
	

	Net acquisition of financial assets
	-3,672


	Net incurrence of liabilities
	3,802


	Balance on Other Investment   
	-7,474


Based on the table above, calculate the following for January 2017. 

1. What is the merchandise trade balance equal to in billions of dollars? Surplus or deficit? 
	Exports of goods
	13,140

	Imports of goods
	20,774


Trade Balance
2. What is the balance on current account (in billions of dollars) equal to? Surplus or deficit?
CA= merchandise balance(deficit)  +balance on services (credit – debit)  + balance on factor income + transfers 
[calculate for yourself]
3. What is the balance on financial account (not including reserve assets) equal to in billions of dollars? Is this an increase in assets or an increase in liabilities?
Financial account balance = -12.679 billion dollars. There is an increase in liabilities (inflow of funds). 
	Balance on Direct Investment    
	-288

	Balance on Portfolio Investment
	-4,917

	Balance on Other Investment   
	-7,474


B. Consider the information below which shows the balance of payments figures for Turkey for the year 2017. Figures are expressed in millions of US$. 
	Current account deficit
	47,170

	Capital and Financial account balance (excluding changes in reserves) [increase in liabilities exceeds the increase in assets]
	38,949

	Change in Reserve Assets (decrease)
	8,207

	Net errors and omissions 
	14


4. Based on this information, what can you infer about the relationship between GNP and aggregate spending in 2017? 
Since there is a current account deficit, expenditures exceed output (GNP). 
5. Based on this information, what is the explanation for the decrease in reserve assets? 

Financial inflows are not enough to cover the current account deficit. (Notice that net errors omissions are almost zero)

6. A) Write down the interest parity condition. 

B) Suppose next year's expected exchange rate is $1.266 per euro, the dollar interest rate is 11%, and the euro interest rate is 6%. What is the spot exchange rate ($/€) that satisfies this condition? 


[image: image1]
7. Consider the diagram representing the foreign exchange market above. 

a) Name a current account item that would be represented by the supply of dollars curve. 
Travel revenues, exports
b) Name a current account item that would be represented by the demand for  dollars curve. 

Interest payments on foreign debt, imports
c) How would an increase in the availability of credit in the Eurocurrency market be represented in  the figure above?

Shift the supply of dollars curve to the right. 
MULTIPLE CHOICE QUESTIONS
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1. Consider the figure above. Given expectations and interest rates so that the return on dollar denominated assets in terms of TL is shown by rr$, and the rate of return on TL assets is RTL.  If the exchange rate is E1 , which of the following is likely to happen?

a. Rate of return on TL is smaller than the rate of return on dollars so there will be an increased demand for $ and TL will depreciate. 

b. Rate of return on TL is smaller than the rate of return on dollars so there will be an increased demand for TL and TL will appreciate. 

c. Rate of return on TL is greater than the rate of return on $ so there will be an increased demand for $ and TL will depreciate. 

d. Rate of return on TL is greater than the rate of return on $ so there will be an increased demand for TL and TL will appreciate. 

2. Consider an investment:

· That starts with TL, 

· The TL is then converted to dollars at the rate of   ETL/$
· The dollars are deposited in an account and earn R$
· Finally, they are converted back to TL again at the rate of EeTL/$. 
Given interest rates on TL and dollar deposits, and expected exchange rate EeTL/$, why is the curve representing the rate of return on dollar denominated assets in terms of TL downward sloping?

a. A more valuable TL lowers the rate of expected depreciation of the TL and raises the return on the investment described above.
b. A more valuable TL raises the interest rate on TL denominated assets and hence raises the rate of return on the investment described above. 
c. A more valuable TL increases the rate of expected depreciation of the TL and lowers the rate of return on the investment described above.
d.  A more valuable TL lowers the cost of the initial investment to buy one dollar and hence raises the return on the investment described above.
3. If the goods' money prices do not change, an appreciation of the dollar against the pound

A) makes British sweaters cheaper in terms of American jeans.
B) makes British sweaters more expensive in terms of American jeans.

C) doesn't change the relative price of sweaters and jeans.

D) makes American jeans cheaper in terms of British sweaters.

E) makes British jeans more expensive in Britain.
4. Which major actor is at the center of the foreign exchange market?

A) corporations

B) central banks

C) commercial banks
D) non-bank financial institutions

E) individual firms

5. In 2010, about

A) 20 percent of foreign exchange transactions involved exchanges of foreign currencies for U.S. dollars.

B) 10 percent of foreign exchange transactions involved exchanges of foreign currencies for U.S. dollars.

C) 30 percent of foreign exchange transactions involved exchanges of foreign currencies for U.S. dollars.

D) 40 percent of foreign exchange transactions involved exchanges of foreign currencies for U.S. dollars.

E) 85 percent of foreign exchange transactions involved exchanges of foreign currencies for U.S. dollars.
6. Forward and spot exchange rates

A) are necessarily equal.

B) do not move closely together.

C) are always such that the forward exchange rate is higher.

D) move closely together and are equal on the value date.
E) are unrelated to the value date.

7. The dollar rate of return on euro deposits is 

A) approximately the euro interest rate plus the rate of depreciation of the dollar against the euro.
B) approximately the euro interest rate minus the rate of depreciation of the dollar against the euro.

C) the euro interest rate minus the rate of inflation against the euro.

D) the rate of appreciation of the dollar against the euro.

E) the euro interest rate plus the rate of inflation against the euro.

8. Show graphically a rise in the interest rate paid by dollar deposits. What is the effect on the dollar?

Answer: A rise in the interest rate from R1$ to R2$ causes the dollar to appreciate from [image: image3.jpg]1
Egre



 (point 1) to              [image: image4.jpg]2
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 (point 2). 
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9. Show graphically a rise in the interest rate offered by euro deposits, R€, and the effect on the exchange rate, [image: image6.jpg]Eg /€



.

Answer:  A rise in the interest rate paid by euro deposits causes the dollar to deppreciate from [image: image7.jpg]1
Egre



 (point 1) to [image: image8.jpg]2
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 (point 2). 
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10. For the following 15 cases, compare the dollar rates of return on dollar and euro deposits.
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Answer:  

[image: image11.jpg]Rate of
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12. Explain what is a "vehicle currency." Why is the U.S. dollar considered a vehicle currency?

Answer:  A vehicle currency is one that is widely used to denominate international contracts made by parties who do not reside in the country that issues the vehicle currency. Since in 2004, nearly 90 percent of foreign exchange transactions involve exchanges of foreign currencies for U.S. dollars; therefore, it is considered a vehicle currency.

13. Explain the purpose of the following figure 14-2 from the text in the context of the interest rates on the dollar and the Japanese Yen between 1980 and 2010.
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Answer:  Since the dollar and the Yen interest rates are not measured in comparable terms, they can move quite differently over time. Except for a period from 1990 to 1993 when the Yen interest rate was higher than the dollar, dollar interest rates have been higher than the Yen, indicating depreciation of the dollar against the Yen.

14. An example of how GNP accounts for services provided by foreign-owned capital (and GDP does not) is

A) earnings of a Spanish factory with British owners counts only in Spain's GDP.

B) earnings of a Spanish factory with British owners counts only in Britain's GNP.

C) earnings of a Spanish factory counts in Spain's GNP but are part of Britain's GDP.

D) earnings of a Spanish factory counts in Spain's GDP but are part of Britain's GNP.
E) earnings of a Spanish factory counts in Spain's GNP but not in Britain's GDP or GNP.

15. GDP is supposed to measure

A) the volume of production within a country's borders.
B) the volume of services generated within a country's borders.

C) the volume of production of a country's output.

D) GNP plus depreciation.

E) net unilateral transfers from foreigners.

16. GNP equals GDP

A) minus net receipts of factor income from the rest of the world.

B) plus receipts of factor income from the rest of the world.

C) minus receipts of factor income from the rest of the world.

D) plus net receipts of factor income from the rest of the world.
E) minus depreciation.

17. The CA is equal to

A) Y - (C - I + G).
B) Y + (C + I + G).

C) Y - (C + I + G).

D) Y - (C + I - G).

E) Y + (C - I - G).

18. Which of the following is TRUE?

A) A country with a current account surplus is earning more from its exports than it spends on imports.

B) A country could finance a current account deficit by using previously accumulated foreign wealth to pay for its imports.

C) A country with a current account deficit must be increasing its net foreign debts by the amount of the deficit.

D) We can describe the current account surplus as the difference between income and absorption.

E) All of the above are true of current account balances.
19. For open economies,

A) S = I.

B) S = I + CA.
C) S = I - CA.

D) S > I + CA.

E) S < I + CA.
20. An open economy

A) can save only by building up its capital stock.

B) can save only by acquiring foreign wealth.

C) cannot save either by building up its capital stock or by acquiring foreign wealth.

D) can save either by building up its capital stock or by acquiring foreign wealth.
E) can save by avoiding excessive imports.
21. What can one learn from the following figure?
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Answer:  The figure shows the U.S. current account and net foreign wealth from 1977 until 2008. It shows that a string of current account deficits in the 1980s reduced America's net foreign wealth until, by the end 2008, the country had accumulated a substantial net foreign debt. In 1987 the country became a net debtor to foreigners for the first time since World War I.
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